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1 B 0. 740 16238. 747 40331. 215 1. 7257
2 A g 0. 823 232139. 531 1876849. 125 92. 8721
3 —Efem 2. 607 10157. 071 92271. 000 3. 7744
4 3.748 908. 044 32913. 301 0. 0000
5 Yy 6. 282 455. 391 19906. 500 0.7707
6 Ak 10. 482 895. 144 31180. 600 0. 8571
7 12. 498 23. 757 599. 800 0. 0000
Bt 260817. 686 2094051. 540 100. 000
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Hip. 202523 4=, 20250203-1
HIr B HAEE (%) HA K HAyEE (%)
= |H, 0.000 2T 4| Trans-2-C Hg 0.000
i 4| CH, 92.872 52 T 45| Cis-2-CH 0.000
7.0%|CH, 0.000 13T —##5|1.3-C4H, 0.000
2. CHe 0.771 5 1| i-CsHoy 0.000
ik CoH 0.857 I k] n-CsH 0.000
7| CsHe 0.000 — 4k | CO 0.000
5T g|i-CaHg 0.000 — k| COs 3.774
i T kz{n-CaHig 0.000 %5/0: 0.000
5 T 4| 1-CaH 0.000 w N 1.726
#31100.000
RS (0°C, 101. kPa)
BB = 38.501 [MJ/m’ PRI H=36.89
E = 34.639 [MJ/m’ Faxtas EE={0.6112
B HE A 1 %= 49.248 |MJ/m’ R pE= 0.790 [kg/m’
(o f 4 1 %= 44.309 |MJ/m’ FRSHHCO,= 11.12
520 WA RA A 5 Hi= A IR B
R ZE (15°C, 101.kPa)
2l = 36.4220 [MJ/m’ JBRBE#=(36.90
&= 32.8150 [MJ/m’ Faxt s EE={0.6109
B G S B = 46.59 [MJ/m’ B = 0.790 [kg/m’
{4 5 = 41.98 |MJ/m’ FESHHICO,= 11.12
520Y WBRIEREE B H= MATRBERE=
0°C, 101.kPa 15°C, 101.kPa
B = 162 |keal/m’ EadgE| 153 |keal/m’
& Hulti= 145 |kcal/m’ EavE| 138 keal/m’
E RV = 207 |kcal/m’ B A % 196 keal/m®
EAVE R B= 186 |kcal/m’ EaEeas 176 keal/m®
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IS (e 324 LR B B 1] s 7o g T R R
1 Eka 0.740 18134. 678 44648. 758 1. 8647
2 H 2 0. 823 234819. 672 1915798. 250 92.5267
3 -y 2.615 10315. 708 93971. 297 3.7518
4 s 6. 182 596. 806 23097.199 0. 8728
5 s 10. 423 960. 403 36679. 699 0.9841
Bt 264827. 267 2114195. 203 100. 000
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Hip. 202523 42, 20250203-2
HIr B HAEE (%) HA K HAyEE (%)
= |H, 0.000 2T 4| Trans-2-C Hg 0.000
i 4| CH, 92.527 52 T 45| Cis-2-CH 0.000
7.0%|CH, 0.000 13T —##5|1.3-C4H, 0.000
2. CHe 0.873 5 1| i-CsHoy 0.000
ik CoH 0.984 I k] n-CsH 0.000
7| CsHe 0.000 — 4k | CO 0.000
5T g|i-CaHg 0.000 — k| COs 3.752
i T kz{n-CaHig 0.000 %5/0: 0.000
5 T 4| 1-CaH 0.000 w N 1.865
#31100.000
RS (0°C, 101. kPa)
BB = 38.564 [MJ/m’ MR H=36.87
E = 34.699 [MJ/m’ Faxt 2 E=]0.6133
B HE A 1 %= 49.243 |MJ/m’ R pE= 0.793 [kg/m’
(o f 4 1 %= 44.308 |MJ/m’ FRSHHCO,= 11.11
520 WA RA A 5 Hi= A IR B
R ZE (15°C, 101.kPa)
2l = 36.4810 [MJ/m’ BRI #=(36.87
&= 32.8714 [MJ/m’ FaxtaspE={0.6131
B G S B = 46.58 [MJ/m’ B = 0.793 [kg/m’
{4 5 = 41.97 [MJ/m’ FESHHICO,= 11.11
520Y WBRIEREE B H= MATRBERE=
0°C, 101.kPa 15°C, 101.kPa
B = 162 |keal/m’ EadgE| 153 |keal/m’
& Hulti= 146 |kcal/m’ EavE| 138 keal/m’
E RV = 207 |kcal/m’ B A % 196 keal/m®
EAVE R B= 186 |kcal/m’ EaEeas 176 keal/m®
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e 5 e 324 PR B et 1] e =y I T A% 5E
1 BE 0. 740 1352. 448 3566. 736 0. 1530
2 FR 0.823 227695. 219 1834865. 125 91. 0481
3 ZEAR 2. 565 16054. 739 168850. 000 6.9262
4 Sysa 10. 240 1666. 696 67940. 047 1.8727
2t 246769. 102 2075221. 908 100. 000
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Hip. 202523 Gy, 20250203-4
HIr B HAEE (%) HA K HAyEE (%)
= |H, 0.000 2T 4| Trans-2-C Hg 0.000
i g | CH, 91.048 52 T 45| Cis-2-CH 0.000
747 CoH, 0.000 13T —##5|1.3-C4H, 0.000
7.4 CoH 0.000 5 1| i-CsHoy 0.000
Tz CsHy 1.873 I k] n-CsH 0.000
7| CsHe 0.000 — 4k | CO 0.000
5T g|i-CaHg 0.000 — k| COs 6.926
i T kz{n-CaHig 0.000 %5/0: 0.000
5 T 4| 1-CaH 0.000 w N 0.153
#31100.000
#R4% (0°C, 101. kPa)
2l = 38.259 [MJ/m® BRBEH=35.50
E = 34.434 MJ/m’ Fat 25 pE=]0.6417
B HE A 1 %= 47.759 |MJ/m’ R pE= 0.830 [kg/m’
(o f 4 1 %= 42.984 |MJ/m’ FRSHHCO,= 10.95
520 HBIE H{E 45 11 3= AT IE R =
R ZE (15°C, 101.kPa)
2l = 36.1907 |MJ/m’ BRBEH=135.51
&= 32.6185 [MJ/m’ FaxtaspE=|0.6414
B PVE AR B= 45.18 |MJ/m’ = 0.829 |kg/m’
(B A = 40.72 [MJ/m’ FHSHHCO,= 10.95
520Y WBRIEREE B H= MATRBERE=
0°C, 101.kPa 15°C, 101.kPa
B = 161 |kcal/m’ maval 152 |kealm’®
& Hulti= 145 |kcal/m’ ol 137 keal/m’
E RV = 201 |kcal/m’ B A % 190 keal/m®
EAVE R B= 181 |kcal/m’ T m keal/m®
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Fif (8] (min)
AT RE
5 g 4% DR B B[R] UEE 55 UEE T AR TR
1 AR 0.748 5851. 347 15146. 158 0.6629
2 R b 0.832 220364. 609 1742803. 000 88.2122
3 1. 590 15994. 329 167467. 500 0.0000
4 Ak 2.573 15547. 457 159093. 297 6.6567
5 5. 248 629. 745 20881. 414 0.0000
6 6. 207 615. 007 22919. 385 0.0000
7 8.907 2931. 150 111033. 242 0.0000
8 Ak 9. 840 3157. 217 158918. 156 4.4682
9 13. 057 107. 714 9246. 400 0.0000
J=87s 265198. 575 2407508. 553 100. 000
2025-02-04

LK E R 5 B 7



&g ST R
Hip. 202524 G2, 20250204-1
Ha 2 HAEE (%) HH LR HoEE (%)
= |H, 0.000 2T 4| Trans-2-C Hg 0.000
i 4| CH, 88.212 52 T 45| Cis-2-CH 0.000
7.0%|CH, 0.000 13T —##5|1.3-C4H, 0.000
2. CHe 0.000 5 1| i-CsHoy 0.000
ik CoH 4.468 I k] n-CsH 0.000
7| CsHe 0.000 — 4k | CO 0.000
5T g|i-CaHg 0.000 — k| COs 6.657
i T kz{n-CaHig 0.000 %5/0: 0.000
i 5 T [1-CaHy 0.000 w N 0.663
#3+100.000
#R4% (0°C, 101. kPa)
BB = 39.757 |MJ/m® R pEH=35.68
E = 35.833 |MJ/m’ Faxt 25 E=]0.6672
B HE A 1 %= 48.674 |MJ/m’ R pE= 0.863 [kg/m’
6 A 6 P B = 43.871 [MJ/m’ TS FHCO,= 10.97
520YHBUERIEE B H= MARMEIER B =
> (15C, 101.kPa)
2l = 37.6018 |MJ/m’ BRBEH=35.69
&= 33.9377 |MJ/m° Faxt s pE={0.6667
BV e K= 46.04 [MJ/m’ B = 0.862 [kg/m’
66 B 2 1 B= 41.55 |MJ/m’ FRSHHCO,= 10.97
520y HBUERIEE BHH= MARMBEIER B =
0°C, 101.kPa 15°C, 101.kPa
B = 167 |keal/m’ EavgE| 158 |kcal/m’
&A= 151 |keal/m’ w143 keal/m®
E RV = 204 |kcal/m’ B A % 193 keal/m®
EAVE R B= 184 |kcal/m’ T 175 keal/m®




N2000 ##E TAHEuG

R[Sk E

SEIOHTIE]: 2025-02-04, 17:23:59 %5 . MR CEUFE: RERED
3‘32%%2 C: \ Wi KB \N2000\ F: % \B20250204172359 f&%ﬁﬂeﬂ: 2025-02-04, 17:39:01
IHEIMF: DRSS mtd WHITR: WRKRIER—%

ERER R, S Kllgg: FID i o P K
HR: BFEFHE

it & (B20250204172359)

300
280
260
240| &
200 ¥
200/
180
E 160
H 140
120
100
80
60 \iﬁé
40 {4; W
20| & I R
ol A N
0 1.2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25
B 18] (min)
e RE
5 e 42 £ B it ] e =y g T A% B
1 BE 0. 740 10376. 064 27536. 379 1.2200
2 FH 0. 832 218215. 000 1723828. 125 88.3238
3 ZE AR 2. 590 15238. 303 157285. 094 6.6619
4 6. 282 607. 136 23251. 600 0.0000
5 W 9.915 2862. 733 133311. 094 3.7942
Bt 247299. 237 2065212. 291 100. 000
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iy, 2025.2.4 g2, 20250204-2
Ha 2 HAEE (%) HH LR HoEE (%)
= |H, 0.000 2T 4| Trans-2-C Hg 0.000
i 4| CH, 88.324 52 T 45| Cis-2-CH 0.000
7.0%|CH, 0.000 13T —##5|1.3-C4H, 0.000
2. CHe 0.000 5 1| i-CsHoy 0.000
ik CoH 3.794 I k] n-CsH 0.000
7| CsHe 0.000 — 4k | CO 0.000
5T g|i-CaHg 0.000 — k| COs 6.662
i T kz{n-CaHig 0.000 %5/0: 0.000
5 T 4| 1-CaH 0.000 w N 1.220
#3+100.000
#R4% (0°C, 101. kPa)
2l = 39.118 [MJ/m® BRpEH=35.34
E = 35.246 [MJ/m’ Faxt 25 E=]0.6628
B HE A 1 %= 48.051 |MJ/m’ R pE= 0.857 [kg/m’
(o f 4 1 %= 43.294 |MJ/m’ FRSHHCO,= 10.89
520 HBIE H{E 45 11 3= AT IE R =
R ZE (15°C, 101.kPa)
2l = 36.9993 |MJ/m’ BRpEH=35.35
&= 33.3826 [MJ/m’ Faxt a5 EE=|0.6624
B HE A %= 45.45 [MJ/m’ = 0.856 [kg/m’
(B A = 41.01 [MJ/m’ FHSHHCO,= 10.89
520y HBUERIEE BHH= MARMBEIER B =
0°C, 101.kPa 15°C, 101.kPa
B = 164 |kcal/m’ EadE| 155 |keal/m’
&A= 148 |keal/m’ waval 140 |keal/m’
B AVE A B = 202 |keal/m’ EaEeas 191 keal/m’
EAVE R B= 182 |kcal/m’ EaEeagw 172 keal/m®
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pe| mmwEm | mweE | ewEm | e | DSOS g | s | s | s
1 R AR 2025/2/3 9:45 50 G B
2 A 2025/2/3 11:15 23 =y NG
3 AL 2025/2%3 14:25 31.9 A IE®
4 AL 2025/2/3 10:20 31.2 =y EH
5 RIKE 2025/2/3 15:15 50 G 1B
20254
6 FRRIERFHE 2025/2/3 15:55 50 s 1B
7 S A 2025/2/3 10:30 50 H% 1IEH
8 ey 2025/2/2 10:16 20.5 SH EF
9 Hpk)” 2025/2/2 10:36 27.8 St i
10 Pk it 2025/2/2 11:19 50 SH EF
v

e ARE ORISR B ALY (CJJ / T148-2010) 25 ) JU MWy (THT) 50. 08mg / m3IKf, ffﬁi?ﬂ]\ﬁ%%%ﬁi&fﬁ, Rp
TR 99 % N (99 % KIBER) 508 1%k




